Mounting Suggestions:
Yamaha Bolt 2013-14
Spring Solo Kit

Hardware Mustang Front Mounting Bracket, Seat
included: Mounting Bracket and Spring Bracket

(2) Chrome Washers, (2) Fender Washers,

(2) Flat Nylon Washers, (5) 1/4”-20x5/8” Phillips Screws
MOTORCYCLE SEATS (2) 6mm Allen Screws, (1) 1/47-28x2-1/4” Hex Screw,
(1) 1/47-28 Nylock Nut
See page 5 for diagram

Tools Phillips Screwdriver, 10mm Nut Driver
needed: 6émm Allen Wrench, 7/16” Socket, 7/16” Wrench

Go to
www.mustangseats.com/

Optional
Pouch

Mustang/bolt-spring
to see an installation video

Installation of Spring Solo Kit:

Hook the top of the optional pouch to Now insert the 1/4"-20 x 1/2" Phillips screw through
the back edge of the mounting plate. the hole in the plate and the pouch.

Then put the black nylon washer followed by the
acorn nut onto the screw and tighten with a 7/16" socket.

Page 1 of 6




" v ;
On the underside of your solo seat there Line up the three holes in the mounting
are three 1/4"-20 mounting locations. plate with the holes on your seat.

Using three 1/4"-20 x 5/8" screws, attach the plate to
the seat starting with the two rear locations.

Using a fender washer and a 1/4"-20 x 5/8" Phillips screw,
attach the first seat spring to the mounting plate.

Page 2 of 6



Make sure the of the spring is
facing towards the front of the seat when tightening in place.

’ -n
S“; N

-

Line up the two h;)ies of the spring bracket (supplied) Line up the two hoies of the spring bracket (supplied)
with the two holes on the bike frame. with the two holes on the bike frame.

Attach the springbracket using two 6mm chrome Allen head Now install the front seat hinge bracket by lining up the pins
screws and the two chrome washers (supplied). with the two holes in the front portion of the bike frame.

@ Page 3 of 6
™M

ustan
\\/‘ g




.~ — =
Now install the front seat hinge bracket by lining up the pins
with the two holes in the front portion of the bike frame.

Using the screw from your stock seat,
tighten the bracket using a 10mm socket.

As you slide the 1/4"-28 x 2-1/4" hex cap screw through the
bracket, position a white nylon washer-on each side
of the nose of the seat mounting plate.

Tighten the 1/4"-20 nylock nut onto the screw
using a 7/16" socket and'wrench.

Tap the bracket into place; it should be a snug fit.

L\ 7 {
\ \ A\ (N
Position nose of seat into front seat
hinge bracket as shown.

:- ‘ . “ . / /
s ~zg oy S

Carefully flip up your seat making sure there is clearance
between the seat springs and your-fender.

Page 4 of 6




Re-install the side cover and lock itin place.

Chrome Hex

i
e Phillies  (x5)

2” Black Coil Sering
(x2)

6mm BH Allen

(x2)
4 Chrome Washer

(x2)

1/4”-28x2-|/4")\

Flat Nylon Washer

(x2)

1/4°-28 Nvlock

Nut

Page 5 of 6



Enjoy the comfort and custom look of your new Mustang seat!

These steps are guidelines to help you install your new Mustang product. If you need further assistance,

please call us Monday through Friday 9:00 - 5:30 Eastern or send an e-mail.

For care and maintenance of our seats, please go to our website under "Support".

Refers to part numbers: 78154, 76985 and 78160

800-243-1392 » 413-668-1100 * questions@mustangseats.com * www.mustangseats.com




